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Chemistry 12
ACID BASE LESSON #9
THE RELATIONSHIP BETWEEN K, and K, FOR A CONJUGATE PAIR
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i it is-found that the ACID IONIZATION equation:
G@Mm‘r’ o (aq) + H20(l) € q) + H30" (aq)
Has the acid ionization tof:
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While the BASE IO TION eqautisn:
e Ut aq) + H,0() e@aq) + OH" (aq)
Has the BASE IONI o .
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Slnce both equatlons involve both N{’f\ TS Ny, g , the following \<\4/
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Conclusion: for A CONJUGATE PAIR; S
> |Ka(conjugate acid) x Kp(conjugate base) %\K@
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Recall that the table of Relative Strengths of Acids and Bases is set up with only

Ka values. You can use the above equation to solve for the K. M
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Kb(conjugate base)= B
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Example 1. What is the@for HoPO4 ?
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Example 2. What is the Kb for HS™ ?
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Example 3. Given thatt}@m\N.;He is 2.14 x 1072, what is the Ka for N4H;* ?
eﬁ% w NP e @ = Nbﬁb + Hg
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SEATWORK/HOMEWORK: Exercises 35-37 in Hebden
PLO’s: M1-M2 and M4




